EARAROBREBRT —5 XN—ZXBISH—F

202246881880 () SElAntE1H

B va-uE 95538

\(9&1&1 /J\Elﬁ‘ (eEwEl - | S 15000 FEE

[AE%] 17%&:1,200,000 § ~ 237&:480,000 @ . 37&:300,000H  435:180,000 @ . 5 3&:120,000 M

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
R N N EEE . _3-7- - WTFEz (i)
1l8lg| /77— €3 A 1.(3_7).7 3-3-2-2 | 40.0 2 (4_67?; EﬁEE%E
RiAWTT—II B:AXRYv)LT7O—b #HBEIT7—L
= AHIESE : -2-1- - LSRR (fofs)
2 4| PIVITAVAE s 8 56.0 1'(353'8 x4 ! (if; () E?yz
R:TT/—X/ B:F75T7xR0OIYV BRI B—
» » ~ SREER : ~5-5- - GHEEE e
3/5|5 | MILEYIY "3 1'?7%'2 R R 6 (4_711) BRI e
R:Bv/O0704 BNV TIF R =H sth
— o It : -4-4- - aHES (fas)
N, EErA=rS 318 L | e e Yo | mEe—
R:Z28OVFTVI—Y 8B:I5VY—)b [AEZ S &
3 [FEspEE] : -8-7- - B2 (RGiE)
5 7 7 Zg_z-j‘/rj_)b 4 3 54.0 1(74?:‘)9 8-8-7-7 42.2 5 (4_489) HET
RiSZ B:yvbh—/D—)b PH BE
NN 8 3 | AEERES 1:41.2 5-6-6-5 |42.9| — 7 450 | HHEE (ot
(1 6 I TJUIR—-ZR A51.0 (11/2) “13) $HJ||'?%>
R:FVH—0 B:A—HVIENU AR TT 7 — L4
, 33 | ABEX 1:43.0 1-1-3-3 | 45.3| - 3 43 | KEHE (1018
7Y 3| FI5T 56.0 ) (7) | REEE
R:5Z B:tERyIFo—I\ PIRERUS
- hER%E : -7-8- - EEHB CHT)
al1l1vTFn—r B 3 el 1.({3.2 6-7-8-8 | 44.7 8 (4+111) L5
RIZAT VTV 8:N\—RIAN—h I 458
@ 11— —BBIEfI
1T=zr= 3,4,8,2,6,1,5,7
20— — 3,4,8,2,5,6,1,7
30—7— 4,8,3,2,5,6,7,1
43— — 4,8,3,5,6,2,7,1
o ILRE
B B 8 2004 JA R 4-8 130M B E 4-8 2204 3EE 4-5-8 1,010H
7B B 8 110 5-8 650 =51 8-4 400/ 3EH 8-4-5 2,340
4 110 4-5 260/
5 220

ABIC OV TRUTEREERRODDZE. THRIIZEL.




